Urban Economics and Simulations

P. v. Mouche

Assignment A

For this assignment, i.e. Assignment A, choose one of the following two exercises. Ex-
ercise 1 relates to Chapter 1 (Why Cities Exist) of the Text Book. Exercise 2 to Chapter
2 (Analyzing Urban Spatial Structure) of the Text Book.

Exercise 1 Make Ezercise 1.1(a, b, ¢, d) from the Text Book. Concerning Ezercise 1.1(a).
Please present the costs as follows in a table:

Market | River+ | Riwver- | Mine

Input cost
Output cost
Total cost

Here River+ denotes the market side of the river and River- the mine side of the river.
Be sure that it is clear how You did obtain these costs.
Remark: also see footnote 5 on page 15 of the Text Book.

Exercise 2 Make part g of Exercise 5 in the Exercises A set.

Please handle in, by email or in my Post Box, before May 27.



